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41 Testing Result

Test Caze Num Test Case
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Test CaseNo' |2

Problem.

O
91—52!3 39—
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=TT
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(=]

Reason | SWOL 019101 ZH0I.THS! IQIXISIE

=1 S

O
T
Solution AA JT AW

ay.Check_Payback({{controcller.getUfreq()-1));

}
if(result>=1)

Wy Iy

if(choice.getText().equals("1")||choice.getText().equals("2"))

Gift_code(result,Long.parselong(choice.getText()));
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Test CaseNo' |3

Problem ' | Payback 22¥2I 012101 22 2= Al HIIX2I= ol

Reason '

O
T
Solution AA JT AW

result=0;
1

}
if{result>=1)

I
L

if{choice.getText().equals("1")||choice.getText().equals("2"))

2"3)

SE2AZASLII? YN

e_Gift_code(result,Long.parselong(choice.getText()));

HOY ZRS HER MMM E.

Mainview.
nextPanel(



Test Case'No 4

Problem " | Print StatementOl 22} 30l LIS HEHO] UIOIE } Q£ 2101 ' S01Z |
Reason ' Y= 200 Ut HIOIE] 20l Tt OIRIXI2IS oll==XI 93¢

Solution AA FAC-AX

else if(YN==2)

if(result:=1)

1
Mainview.show("H0|¥0| Yoo
nextPanel{"print™};

}

else

{ String

I ECABNESLITE? YN

Mainview.this.show (" M7 &L ) )
update _setter=1; j

fu ey HoM E5E WEE MEGHY ].
nextPanel{"selectMenu™);

YINDE MENGH M &

2ol
Mainview. show( ™Y /N2 SEfZ=H2");

nextPanel("statement”);




TestCaseNo |5 | . 2 o .

Problem | S 191 JIX19 S%Uot XIS & 9’3 (| Q o101 'E'.' N
Reason | |User®l 'Receiver HWEE HIZ0H01 NIQHAEE & oS
Solution : AR E!E"-,’.*—E

try {
check=controller.get ReceiverfAccount{accountinput.getText());
} Catch (Exception Hl: ]
! E1 catch block
el.prints tachTra
}
if(check==true) »
1 SN ATE YR
if{accountinput.getText().equals(controller.get Ulccount()))

L

=01 275 gLICH

Mainview.show( "B =2 £330 27t TUCH);
nextPanel("i i ;




Test Case'No 6

Problem © | ZF ol lnput Amountﬂll S Rt PURS IS
Reason ' Input Amount0ll S200 THE! OIITIZIS FHoH

Solution =~ @ |AAJFC2AH

try{
if(Long.parselong(amount.getText())<=0
r

Main\.riev.-.fhm.{"’ ZY2 Lo STHsTLC");
nextPanel("inputamount™);
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Test Case'No T

Problem (100000072101 3 -2 11 DBUIZO] =91 o0t OIS XX &S
Reason ' Update Accountﬂllulﬂﬂﬂﬂﬂﬂl)l*u 2100 DHSt ZEORMRICIX] S

[Somtion ~ | |&X AL+

void set Amount(long amount)

r
L

this.Amount=amount;
1
i

long get Amount()

r
L

return -this.dmount;

1
7




Test Case'No 8

!

Reason | DB TIL0] TS ILD 0I5l 22 FHC%0I 00 HElols =01 FHCI0 A AUS
Solution '

Problem | DB 0] 9IS = S+ 210 L Ho AL Q=
0

update setter=0;

boolean limitcheck=controller.Limit_Amount();

boolean max=controller.max(); : Q wrncren
:iﬂ:::.:untr"culler"-EEtLlliﬂ'litf: :I{=E+:I - }

O
_Ir ZHo|

Mainview.show("St=7} Bl= H[Z SLCH.");
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. Test Case'No 9 _
i ! . ” k 3 . n
" [Problem UEE B2 O 200 212 Rionl IS 3O Qei0l H01T
' Reason | GAE U7 A2 WX QUAS 220 OIATAS IKle =
Solution AR 2T 38 ' |

else if(YN==2)

if(result>=1)

1
Mainview.show("H0|%0| 9222 =0 AHE2E STUL");
nextPanel("print");

¥

else

1

Mainview.this.show("H2{7t 25sUS");
update setter=1;
nextPanel("selectMenu”);
ZOAZALIR YN
1 YINDH MEGH TS A R
HOM ZES M2 ME5HI 8.
3 - 2tol
else

1

Mainview.show("Y/N2t S=isi=Ha");
nextPanel("statement");



Test Case'No 10

s Problem_

'OIIII el A DBﬂII % HXio A=t ll s

Reason ' EXTIF0N Ot 2t 242 Al llIIQIIlEI

oll==Xl &

1o
o=

Solution - AA JC 22X

1
else

1

b

}catch(java.lang.NumberFormatException e4)
.
1

Mainview. show( T HI= =5|7F 2|7 ZF&LUCH");
&a M HZzE 2y

Mainview.show( " 24 o] A2 oo oha] LHEda2");
nextPanel("inputreceiver™);
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, Test Case'No 13 ol ‘ :
Problem | 9= 201 2= A90S UIS0S uag ‘
‘ Reason | 2121 2t Q0 Uial ONQIXIA S 1 U
Solution - AX Ic ey |

try{
if{Long.parselong(amount.getText())<=8)
r

1

Mainview.show("e0lst2] 3¥e HUHo| 27HsTUC");
nextPanel{"inputamount"™);
b
else{
if (mode==1)
1
send send=new Send();
controller.SetInput_Amcunt(send.get_Amount{controller.input_Amount(amount.getText())1));
nextPanel("limit");

else if(mode==2)
;

1

Withdraw withdraw=new Withdraw();
controller.SetInput_Amount{withdraw.get_Amount(controller.input_Amount(amount.getText(})));
nextPanel("limit");

else if(mode==3
1
Deposit deposit=new Deposit();
deposit.set_Amount(controller.input Amount(amount.getText()));
controller.SetInput_Amocunt(deposit.get_Amount());
nextPanel("statement");
by
1
teatch(java.lang.NumberFormatException ed)
.
1
Mainview.show( " Y354 o] S8 Fuch cha] Y4 2");
nextPanel{"inputamount");

(i) omstel 2u= ei=zy0 2HsBLIC



Stage 1000
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=& ™ == 2

Describe Use CaseOflA] Actor0l| | Actor0i &K= 0|&%t= LA
CHst 220 CHEE HM7L 2238t | 2 CustomerZ =3t

Use Case 37} 0[E0| LX|3} |2 A [jof 2E use case Ao

2 I 5= : =M YRA L
[ stage 2030.
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Send®| Typical Courses of Events2| 7

ofl CHH Of A of A4

Sequence Diggramﬂl*‘l Of 7} 4 =0f| CH'St ’53"217}

28 Qs
Operation ContractsOl M x| At &t+9 Operation | = F A
o| S} 24| 2‘d(Send!=Send Money) M ArEe et==@l Send, Withdraw.. A& =
- X _
o
State DiagramOj| A send / withdraw 0f| A e 50 ot A Payback CHef HE=X| =HQIst
AmountL} Payback CH 0] =X 2H0I5t= = Sequence F7t
HEQ| 92
T HA 'O
State Diagram0i|A check remain 0| A =718t

Password?} St=X| 2Q15l= Sequence Si&







